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1. (@) Let f(g be a periodic function of
period 2m. Write the value of f(x) to
which it converges at the end points

x=tm
(b) Define Fourier series of a function f(x)
in the interval (a, a+2m), a€ R*.

(c) Find a Fourier series for the function
flg=x+x? in the interval (-m, m),
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2. (a)

()

(c)

(d)

(e)

a. s
(@) Write the value of y-1 { 1 }

)
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Fu or
Ind the range
Series of the )
lnteWa] (0, 1t). fl.lnctl

cosine and sine
on f (x) =x in the

‘Write e
( ii} L {Sin x}‘

Find @ g1 pg2

value of 6 L2 and
1+1=2

*} and g L{t?;.
2+42=4

e Second shifti g
transfory, 4

:ate and Prove
€orem of. Laplace

3x2=6

s-2f"

W -
rite the value of r-1 {L}
. [ .

o p-1 s+ 7}
1 —_—
@ L {og s+2
4. (a) Write the Fourier sine integral formula.
(b) Write the Dirichlet’s conditions for
Fourier transform.
(c) Find the Fourier sine transform of
flg==x. :
(d) State and prove the change of scale
property of Fourier transform.
Or
Prove that
F{x" = (~i)? i F
Fo ="~ iF
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(3)

(c) Define null function.

(d) Find the following (any one) :

W op-1 3
G L {(3-3)2 +32}

R 1
i) L 1 ______-—}
g {32 -6s+10

(e) Find the following (any one) :

oW p—1 1
HL {(s2 +4)(s+1)2}

1




(4)

(e} Answer the following (any two) : 7x2=14

() Find the Fourier transform of fix
defined by

2
f(x)={1—x , lx]<1

0, x>1

(ii) Find the inverse Fourier transform
flx) of F(p)=e-lrly,

(i) Find the Fourier cosine and sine
' transforms of ¢-ar

» a>0.
5. (a) Write the valye of L el
. dy '
(b) Find L|% . 2
ot

o) Solve wusing Laplace  transform (any
two) ; 6x2=12

) (D2 4ap +Sy =5, yo), ==

0=0 p=2

¥0)=0, D= 7

@ (02 +3p *2y=e, y0) =0, y'0) =1

(@) (D* +9)y = giny Yo =1, y(g)=1

) 9Y _ 0y -3y
() ax =2 at T Uik 0)=6e
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